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Pensieve header: Formula testing for the future double-tree paper; continued pensieve://2013-11/.

Double-Tree Formula Testing

SetDirectory["C. \\drorbn\\ Acadeni cPensi eve\\2013-10"7;
<< "../2013-05/FreeLie.nt

<< "../2013-05/nucCal cul us. nt

<< "WKOSol uti on8-0. nt

a = MakelLieSeries[{"1", "2"}, as]; B = MakeLieSeries[{"1", "2"}, Bs];
¥ = MakeCW\Beries[{"1", "2"}, ¥s]I;

V=M{l-a 2-8} vl

xs[d_, 11 := 1f[QddQ[d], O, xs[d]], x=MakeCWeeries[{"1"}, xSI;
Unprotect [C]; C=M[{1l - MakeLi eSeries[0]}, xI;

$Seri esShowDegree = 5; $Seri esConpar eDegree = 8;

{V, C // dc[1]}
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1 The Hard R4 Equation

R*[2, 3] **R'[1, 3] **xV = Vxx (R'[1, 3] // da[1l, 1, 2])
True

< The Twist Equation

Vxx0[1l, 2] = R'[1, 2] *% (V // do[{1, 2} » {2, 1}])
True

3- The Unitarity Equation

Vxx (V // dA[1] // dA[2]) = de[l]Ude[2]
True

“ The Cap Equation

(Vx% (C // da[l, 1, 21) // dc[1] // dc[2]) = (CU(C//do[l, 2]) // dc[1] // dc[2])
True

® The Vertical Flip Equation

Vs (V // dS[1] // dS[2]) = R*[1, 2]

True
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